MHRIRE LGN BITER

(2022 £F[E)
RE&R RIS
SRR Akt =S ] ST
TR cEmEY | SENEE | oE| HEE TN
FRERESEDE 35904719.00 27340697.00 27,340,697 10 (100.00%) 10
Iﬁ(%_ﬁ@ Hirb  METIEERE | 31925000 27340697 | 27340697 | —
RS 0 0 _
Hitae 0 0 _
r3s THRE SRR
IE\{Z’K
S5 S TR T
FEF sChw VAS
—gER | o =ttt it o |pt| my |REREEIR
$ebR : BERRAEE 98%LAE 98%LA 5 5
RS . — N
x,u\
R A= | 100% 100% 3| 3
R
Rl —
s RN
100% 100% 3 3

-1 -




%

2

B
=
B

IR

PSR

fetR1 BRI IR —RMbET —IRMEE
FEbR1 | FEFTIAE AR, R R
i3
ATSEErR i . e
SR TR
RbE 100% 100%
sginl  smemz | 100 100%
FER2 © 4RFEARHLEAN = =
e 5] 5]
Ellvee]
fEFR2 | IRERWEEA <=200/57T <=200J57T
HEiRT « AN FEVEFSIRT « EINRYESIRT « AN
FEAAN ES SN
AN
ZERBR toin - SR >1104 >110/4

ANEIFRA

BiR1 : FEFREEB R

(i

ant

it




100%

100%

davesEs  BE  REPNEE
amesR
i (BEEY o -
;&E;E*ﬂ? E}Ih;EQEfJ_ h— E'ﬂ.’:
iR e | 100% 100%
i ROREE b
RS "
SRRt R -
R
hoin - MR s e
iR - TR
TSR = f=
B
;Elh_—\‘] . TE%@ZE%i ?E L_%a—_l_
AR
- - IR HEEaGE
1152 | AT e e =
g KpEEEE . - B R IR
SRR RS E T - 5
$5+3
AR N7 Y 85, oS REE
=

=




‘100‘ 97 ‘




MR LSS BITR

(2022 £F[E)
REEHR RS54
) LRI SEEERfs T R AHVESTERER
EWEY | e | eEiT | oM | s 85
FEREEE 2513000.00 2513000.00] 2,513,000 | 10 [100.00%) 10
Iﬁ(gjéfj)é Hrp : ZEBERER 2513000 2513000 | 2513000 | —
HEAS 0 0 —
HitaS 0 0 _
ST TR
SR, SRER. TENL. KRN AMNDS ; 2 1. SR, TEL. WEASTAML

AR
Bix

. IRESHIERIIELRE |
L FR IRAKRLL ;3. BERIESHEARBSN
A8 S AR | (RERIEAE. TR, ER

SCIN2 20 7K AEFPEAYHH

BOE | 2. REGHERIIEILRE , L
220 7KTEFERIHE. M. WCEAML/RIL ;
3. EERUSHRANBENA , ST~
VR FRRFHER | (BRI, TR, ER

{tﬁ@o " 1{&@ "
= Z\
— it — ety =it gﬁg o | o] ms ‘ﬁﬁf\‘ﬁgﬁgﬁ &
SR EAMRER | a cn Lo | 10
2%
it
A2 RAERIBR | o208 | =220 | 10 | 10
RER
FoihiEt - 9151 - EAEER | 0000 | 100% | 10 | 10
MRSl A
EEtR BT RARIER | gy m | 10| 10
e RA
RIS $EhR] - IRE I | <=240755% |<=2405555| 10 | 10
S5 FERIES
- = =7 & | 6| 6

-5-




3 VR R
=]
R
OSSR 18R « RAEFFEE =g _— 6 6
KRR
PyEnti=tnn BiR1  ESEREF et el 6 6
4
Bin1 : PREMSHERE FEA% FEAE 6 6
EERIEIR
feFR2 © WRYS, B > > 6 6
S
SR . SEBANEE 590% >90% 5 4 Hﬁ%,ﬁ%_ﬁﬁ’%}%‘
=
E
wRERER| EESNSRBEERSIR
BiR2 : TAKRBAR >90% >90% 5 3 HE%?%%__JEE%E
=
BEE
JSTAN 100 97




